## Child and Adult Care Food Program (CACFP)

Institution: Balanced Nutrition Agreement #: 9460
Facility: First Class Preparatory School Claim Month/Year: Jan-24

Centers:		Free 19 19 38.7755%	17 16 32.6531%	Paid 16 14 28.5714%	Total 52 49 100.0000%	FY 2024	July 1, 2023-June 30, 20	
	Reported Verified # Verified %					Total Attendan		
						Enrolled Partic	ipants Classified as Free, Re	duced
						and Paid		
Meals	Reported	Verified	Additional Meals Allowed	Disallowed Meals	Reason	Rates	Verified x Rates	Totals
Breakfast:	826	776		50	E			
F	A CHARLESTON	301				\$2.2800	\$686.28	
R		253				\$1.9800	\$500.94	Breakfast =
Р		222				\$0.3800	\$84.36	\$1,271.5800
AM Snack:	0	0						
F		0				\$1.1700	\$0.00	
R		0				\$0.5800	\$0.00	AM Snack =
Р	The state of the s	0				\$0.1000	\$0.00	\$0.0000
Lunch	829	779		50	E			
F		302				\$4.2500	\$1,283.50	
R		254				\$3.8500	\$977.90	Lunch =
Р		223				\$0.4000	\$89.20	\$2,580.4050
PM Snack:	829	689		50	E		2010.00	
F		267		90	Н	\$1.1700	\$312.39	
R	Lat. Not essay.	225				\$0.5800	\$130.50	PM Snack =
Р		197				\$0.1000	\$19.70	\$462.5900
Supper:	0	0						
F		0				\$4.2500	\$0.00	_
R		0				\$3.8500	\$0.00	Supper = \$0.0000
Р		0				\$0.4000	\$0.00	\$0.0000
LPM Snack	0	0					60.00	
F	The American	0				\$1.1700	\$0.00	LDM Casak =
R		0				\$0.5800	\$0.00	LPM Snack = \$0.000
Р		0				\$0.1000	\$0.00	\$0.000
Cash-in-l	ieu Portior	7:				\$0.2950	\$229.81 \$4.084.77	

Amount due to State Agency: \$219.96 Reimbursement Paid to Institution: \$4,534.53

Amount due to Institution: \$0.00 Verified Reimbursement: \$4,314.58

Difference (Paid minus Verified): \$219.96

Copy: Institution

\$4,084.77

\$4,314.58

Note: If the difference is a positive number then money is owed to the State Agency. If the difference is a negative number then money is owed to the Institution.

Lacknowledge I have received page two of form CAC 100E "Review and Appeal Procedures" detailing my appeal rights if money is owed to the State Agency.

Signature of Institution's Authorized Representative Title

Date

Laura 

Signature of CACEP Comiliance Specialist

Date

Distribution: Original and Copy State Agency Copy: Consultant

Food Portion:

**Total Verified Reimbursement:** 

## REVIEW AND APPEAL PROCEDURES

An amount owed to the State Agency indicated on page 1 of the CAC 100E form will become effective **fifteen (15)** days from the date of this notice unless you request 1) an informal review or 2) an appeal.

1) You may request an informal review by submitting a written request for an informal conference within fifteen (15) days of receipt of this notice or by submitting written documentation in lieu of an informal conference within fifteen (15) days of the date of this notice. Send your request and/or written documentation with a copy of this notice to:

Child and Adult Care Food Program Community Nutrition Services Division of Child and Family Well-Being 1914 Mail Service Center Raleigh, North Carolina 27699-1914

The agency will fully consider all information you provide before making a review decision in this matter. Following the informal review, the agency will notify you of its decision in writing and of your appeal rights, in the event the agency's review decision is not satisfactory to you.

2) Alternatively, you may waive your right to an informal review and request a formal appeal of the amount owed to the State Agency by filing a petition for a contested case hearing with the Office of Administrative Hearings (OAH) in accordance with N.C. Gen. Stat. §130A-24 and N.C. Gen. Stat. §150B-23(a). A petition form is enclosed for your convenience. In addition, a petition form can be obtained online at http://www.ncoah.com, by calling OAH at (919) 431-3000, or by writing them at the address below:

Office of Administrative Hearings 6714 Mail Service Center Raleigh, NC 27699-6700

Your petition, both the original and a copy, must be filed with OAH within fifteen (15) days of receipt of this notice. If you file electronically or by fax, please designate your petition as "CACFP Expedited". If you file a petition, you must also serve a copy of the petition on:

Lisa G. Corbett
Department of Health and Human Services
Office of Legal Affairs
2001 Mail Service Center
Raleigh, NC 27699-2001

Please note, you should receive **fifteen (15) days** advance notice from OAH of the time, date, and location of your hearing. Furthermore, no continuances will be granted by OAH for any reason due to the time limitation imposed by 7 C.F.R. §226.6(k)(5)(ix) for rendering a final decision.

## Child and Adult Care Food Program (Form CAC 101)

	-	Claim Month /	rear Affected	Jan-24	
Name: First Class Pred	:: First Class Preparatory School		Agreement No.	9460	
	,	-	•		
CACFP Administrative			Potentially		
Expenses	Reported Cost	Verified Cost	Allowable Cost	Disallowed Cost	
Administrative Labor					
Administrative Fringe					
Benefits					
Administrative Equipment					
(Direct Expense)					
Administrative Equipment					
(Depreciation)					
Administrative Supplies					
Communications					
Rent					
Utilities					
Insurance					
Administrative Contracted					
Administrative Travel					
Administrative Training					
Indirect Cost					
Other Administrative Costs					
Affiliated Center's					
Administrative Expenses					
Total Administrative Cost	\$0.00	\$0.00	\$0.00	\$0.00	
CACFP Operating Expenses	5				
Non- Food Supplies					
Operating labor					
Operating Fringe Benefits					
Rent					
Utilities					
Contracted Services					
Food	\$1,539.3	\$1,505.57		\$33.74	
Food Service Management					
Operating Travel					
Operating Equipment Direct/					
Depreciation					
Other Operating Expenses					
Total Operating Cost	\$1,539.3	1 \$1,505.57	\$0.00	\$33.74	
Harris and Arrival	>				
Reconciliation					
The content of the co	T 645345	2			

Reconciliation			
Reimbursement Amount	\$4,534.53		
Total Verified Expenses	\$1,505.57		
Over/ Under Amount	-\$3,028.96		

AGE TO STATE

Mary 175 1

Signature of SNP Consutant Congridines Analyst I Date

## REVIEW AND APPEAL PROCEDURES

An amount owed to the State Agency indicated on page 1 of the CAC 101 form will become effective **fifteen (15)** days from the date of this notice unless you request 1) an informal review or 2) an appeal.

1) You may request an informal review by submitting a written request for an informal conference within fifteen (15) days of receipt of this notice or by submitting written documentation in lieu of an informal conference within fifteen (15) days of the date of this notice. Send your request and/or written documentation with a copy of this notice to:

Child and Adult Care Food Program Community Nutrition Services Division of Child and Family Well-Being 1914 Mail Service Center Raleigh, North Carolina 27699-1914

The agency will fully consider all information you provide before making a review decision in this matter. Following the informal review, the agency will notify you of its decision in writing and of your appeal rights, in the event the agency's review decision is not satisfactory to you.

2) Alternatively, you may waive your right to an informal review and request a formal appeal of the amount owed to the State Agency by filing a petition for a contested case hearing with the Office of Administrative Hearings (OAH) in accordance with N.C. Gen. Stat. §130A-24 and N.C. Gen. Stat. §150B-23(a). A petition form is enclosed for your convenience. In addition, a petition form can be obtained online at http://www.ncoah.com, by calling OAH at (919) 431-3000, or by writing them at the address below:

Office of Administrative Hearings 6714 Mail Service Center Raleigh, NC 27699-6700

Your petition, both the original and a copy, must be filed with OAH within fifteen (15) days of receipt of this notice. If you file electronically or by fax, please designate your petition as "CACFP Expedited". If you file a petition, you must also serve a copy of the petition on:

Julie Cronin
Department of Health and Human Services
Office of Legal Affairs
2001 Mail Service Center
Raleigh, NC 27699-2001

Please note, you should receive **fifteen (15) days** advance notice from OAH of the time, date, and location of your hearing. Furthermore, no continuances will be granted by OAH for any reason due to the time limitation imposed by 7 C.F.R. §226.6(k)(5)(ix) for rendering a final decision.